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1) Esit aralikh noktalann ver aldifn agafndaki  sayi
doprusunda B ile gosterilen nokia hangi sayiyi temsil
ctmektedir?

(In the following number line with evenly spaced points,

which of the following is point B?)
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(If 30+5 is an even number, w
odd number?)

-dig ber"m reversed, the
resulting number 108 more than the original number.
‘What is the su i nafthadlglhofth[u,nmb;ﬂ]
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Yukandaki garpma iglemine gore d+e-[ igleminin

B) 117 o118 D) 119

6) (48)". (25)° say1s1 kag basamakhdir?
(How many digits are the result of (48)". (25)*?)

A) 12 B) 13 C) 14
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N i bilgi ili " 1 Yepa oy
,{:— kesri ile ilgili asagidaki bilgiler veriliyor. 2_[2:((?’__1_)4’_5]

-Paydasindan 2 ¢ikanldiginda yansma egit oluyor.

-Paymna 7 eklendiginde bir bitiin oluyor,

Buna gore, a + b toplammn degeri kagtir? .
(The following information is given about the fraction &7
If we subtract 2 from its denominator, it is equal to its half
If we add 7 to its numerator, 1t becomes a whole.

So,what is a+b?)

A)13 B) 14 E)17

015 D) 16

8) Asafdaki ifadelerden hangilen yanhstir?
1. Ondalikh sayilarda basamak sayis1 arttik¢a sayinin degeri
artar.

II. Her ondahkli sayimin rasyonel sayi olarak bir karsihf
vardir,

IIL Ondalikh sayilar her zaman 1 den Kiiguktur.
IV. Biitan devirli sayilar rasyoneldir.

(Which of the following statements are incorrect?’

I. As the number of digits increases in decimal numbers. the
value of the number increases.

II. Each decimal number 1s a rational numbe
III. Decimal numbers are always less thanl
IV. All the repeating decimals are rational)

h of the following does the answer of

75 o,
18 025 0,03
A)35 B)33 C)31 D) 29 E)27
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isleminin sonucu agagidakilerden hangisidir?
(Which of the following does the answer opera b
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adelerden hangileri

| kuvvéti (issit) 1°din
. Us arttikga saynin degeri her zaman artar.
¢ ifade edilebilir.

ero exponent of a number 1s equal to 1
[I. If the exponent of a number increases, the value of the
number always increases.
1. Each number can be written as an exponential number
1V. When two exponential numbers are divided, their
exponents are also divided each other.)

A) Yanliz [ (Onlyl)  B) Yanhz II (Only IT) O -1
D) II-1v E)I-11-1V
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12)/5400 sayisinin yaklasik degerinin bulunmasi u;,m ik
sorulardan hangisine cevap bulunmas: gerekir?
(To find the approximate value of V5400, which .fﬂH_}

following problem should be solved?

A)V/F'iin yaklasik degeri kactir? Whatis g
©)V/7" nin yaklagik degeri kagtir? Wha
D)V/Gin yaklagik deferi kagti?
E)ViT'in yaklasik deeri k














































